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QUESTION 1

For an Item to be enabled for back-to-back order process, which attribute do you need to set?
A. Item attribute: Reservations Enabled

B. Organization attribute: Allow Reservations

C. Organization attribute: Allow Back to Back Processing

D. Item attribute: Allow purchase orders off of sales orders

E. Item attribute: Back-To-Back Enabled

Correct Answer: E

QUESTION 2

Your organization is using min-max planning to replenish stock and the planning parameters are set at
item organization level with a default subinventory:

Item: A, Min Qty: 25, Max Qty: 150 and Current Level: 20 The item above is purchased from a supplier.
Although there is subinventory on hand, the subinventory is below the minimum required level.

This should trigger a Min-Max report entry, but the requisition is not generated. Why?

A. Rounding the Reorder Quantity is disabled.

B. Min-max planning can be performed at the Organization level.

C. Item is not defined in Manage Item Subinventories.

D. No value has been set for the "Min-Max Replenishment Reorder Approval” profile.

E. Fixed lot multiplier is not set.

Correct Answer: C

QUESTION 3
Your company is an automobile spares manufacturing organization, which follows a discrete process. It
has its own manufacturing and distribution centers located globally.

It has these business units:
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US - USA business unit

CAN - Canadian business unit
UK - UK business unit

MX - Mexican business unit
IND  India business unit

SPA -Spain business unit

FRA - France business unit

NL - Netherlands business unit
GER - Germany business unit

These are the inventory organizations that exist in each business unit:

Inventory Org - business unit

GM (Master Org) - US
US1 (Child Org) - US

Us2 (Child Org) - US

CA1 (Child Org) - CAN
MX1 (Child Org) - MX
IN1 (Child Org) - IND
SP1 (Child Org) - SPA
FR1 (Child Org) - FRA
NL1 (Child Org) - NL

DE1 (Child Org) - GER

Which two statements are true?

A. Items cannot be assigned to inventory organizations across business units.

B. Items organizations are also supported to serve as inventory organizations.

C. You can define an item in the IN1 inventory organization and assign it to the DE1 inventory organization.

D. Operational Attributes can be controlled only at the Master Level.

E. All inventory organizations do not need to be in the same business unit to assign items.

F. Items defined in the GM organization can be assigned to US1, US2, NL1, and MX1 inventory organizations.

Correct Answer: EF

QUESTION 4

Identify the correct movement request where the move orders are preapproved requests for subinventory transfers that
bring material from a source location to a shipment staging subinventory within the organization.

A. Automatic Movement Request Requisitions

B. Pick Wave Movement Request
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C. Replenishment Movement Request
D. Shipping Movement Request
E. Movement Request Requisitions

Correct Answer: B

QUESTION 5

You are in the process of analyzing the demand and supply schedules for the item based on high level
reservations.

Identify the reservation document type that would be applicable to both supply as well as demand.

A. Movement Request

B. Transfer Order

C. Requisition

D. Account Alias

E. Work Order

F. On Hand

Correct Answer: B
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